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Instructions :

The question paper has 36 questions in all. All questions are compulsory.

Marks are indicated against each question.

This question paper consists of two parts i.e. Part-I and Part-II. Part-I of this question paper
contains Multiple Choice Questions (MCQs) from serial number 1 to 16 of 1 mark each.
These sixteen questions of Part-I are to be answered on a separate sheet provided. This part
has to be completed in first 30 minutes only and the answer sheet must be handed over to
the invigilator before starting Part-II.

In Part-II of the question paper, there are 20 questions from serial no. 17 to 36. These questions
are to be attempted in 2 hours and 30 minutes. This part should be attempted only after the
stipulated time given for Part-I.

Questions from serial number 17 to 31 are 3 marks questions. Answer of these questions
should not exceed 80 words each.

Questions from serial number 32 to 35 are 4 marks questions. Answer of these questions
should not exceed 100 words each.

Question number 36 is a map question of 3 marks from Geography only. After completion,
attach the map inside your answer book.
An additional 15 minutes time has been allotted to read this question paper only.
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PART -1

Who among following discovered the continent of America ?
(a) Vascodagama (b) Ferdinand Megelan
(c) Christopher Columbus (d) Copernicus
OR
Where was the first cotton Mill set up in India ?
(a) Ahemedabd (b) Kanpur
(c) Bombay (d) Madras
OR
Which of the following books was written by Andrew Mearns a clergy man ?
(@) The Gods visit Earth
(b)  The Bitter cry of Outcast London
(c) Dombey and Son
(d) Guest House.

Which one of the following countries passed corn Laws to restrict the import of corn ?
(a) India (b) France (c) China (d) Britain

Which of the following mechanical devices used for weaving, with ropes and pullies,
which helped to weave wide pieces of cloth ?

(a) Handloom (b) Power loom
(c)  Fly shuttle (d) Spinning Jenny.
OR
In which of the following year Bombay became the capital of the Bombay presidency ?
(a) 1819 (b) 1850 (c) 1872 (d) 1880

Who among following introduced hand printing technology in Japan ?
(a) Buddhist Missionaries from India

b) Buddhist Missionaries from Japan

(
() Buddhist Missionaries from China
(d) None of the above

OR
Which of the following was the first modern novel written in Malayalam ?
(a) Sevasadan (b) Indulekha (c) Chandrakanta (d) Rajeshekhar
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Who ammong following invented printing press ?
(a) Martin Luther (b) Johann Guttenberg
(c) Isaac Newton (d) Voltaire.
OR
In which of the following language was the novel “Yamuna Prayatan” written ?
(a) Bengali (b) Oriya () Hindi (d) Marathi.

Which one of the following is not the community owned resource ?
(a) Grazing grounds (b)  Burial grounds
(c) Village ponds (d) Privately owned house

Which of the following types of species are known as the extinct species.
(a) species whose population levels are normal
b) whose population has declined

(
(c) species with small population
(

d) species which are not found.

On which one of the following rivers Mettur dam is constructed ?
(a) River Kaveri (b) River Krishna
() River Godavari (d) River Mahanadi.

Which of the following crops grows well in the Black soil ?
(@) Jute (b) Rice (c) Cotton (d) Wheat

The Government; in which power is shared by two or more political parties, is known
as :-

(a) Community Government (b) Unitary Government
(c) Federal Government (d) Coalition Government

In which year did Sri Lanka achieve its Independence ?
(@) 1945 (b) 1946 (c) 1947 (d) 1948

Which of the following countries has coming Together Federation.
(a) The US.A (b) India (c) Spain (d) Belgium

Which of the following is correct for patriarchal society ?

(a) Women dominated society (b) Male dominated society
() Educated society (d) cultured society.
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Development of the country can generally be determined by
(a) Its per capita Income (b) Its average literacy rate
(c) Health status of its people (d) None of these

If there are five persons in a family and their total income is Rs 20,000/ - what would be
the average income of each person. ?

(a) Rs. 6000/- (b) Rs. 4000/-
(c) Rs. 5000/- (d) Rs. 10,000/-

On which of the following economic basis the sectors are classified into organised and
unorganised sector.

(a) The nature of economic activity

b) Ownership of enterprises

(
(c) Employment conditions
(

d) Number of workers employed in the enterprise.

Which of the following economic activity does not come under the primary sector ?

(a) Fishing (b) Farming () Mining (d) Banking

PART -1I

What is meant by the Bretton woods system ? Explain.
OR

What is meant by proto - industrialisation. Explain.
OR

Why did the population of London expand from the middle of the eighteenth

century ? Give three reasons. 3x1

Why did people in the eighteenth century Europe think that print culture would bring
enlightenment and end despotism ?

OR
How did Jane Austen portray the women of 19t century in her novel ?

“Woodblock print came to Europe after 1295, Give any three reasons to explain the
above statement. 1+1+1=3

OR

Explain any three reasons for novel becoming popular in India. 3x1
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Explain any three impact of printed books on women in India in the nineteenth
century ? 1+1+1=3

OR

Briefly explain the theme of the novel ‘Godan’ written by Munshi Premchand.

What are the biotic and abiotic resources ? Give two examples for each. 1+1+1=3
Explain any three measures taken by the Indian Government to protect wild life. 1+1+1=3
Explain any three disadvantages of Multipurpose projects. 3x1

Explain the power sharing arrangement in a democracy among different organs of the
Government.

Distinguish between over lapping and cross cutting social differences. 12+1Y2 =3

What was the Black power movement ? Explain
Explain any three different aspects of life in which women are discriminated in India. 3x1

In what respects is the criterion used by the UNDP for measuring development different
from the one used by the world Bank, Explain.

Why is literacy essential for the economic development ? Explain.
Explain the objectives of implementing NREGA 2005.
Explain any three differences between the organised and unorganised sectors.

What is meant by the term “globalisation” ? Describe the three types of movements or
flows within inter - national economic exchange. 1+1+1+1=4

OR

Why did some industrialists in nineteenth century Europe prefer hand labour to
machines ? Give four resons.

OR

Bombay appears to many as a city of dreams. Mayapuri. Explain by giving examples.
1+1+1+1=4
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Differenciate between the subsistance agriculture and commercial agriculture.

Explain any four provisions that have been made towards decentralization in India
after the constitutional amendment in 1992. 4x1=4

Explain how public sector contributes to the economic development of India. 4x1=4

Three features with serial Number 1 to 3 are marked on the given political outline map
of India. Identify these features with the help of the following information and write
their correct names on the lines marked in the map.

(1) Soil type
(2) A forest type
(3)  The leading tea producing state.
OR
Locate and label the following items with appropriate symbols on the same map.
(1) Hirakud Dam
(2) Periyar Tiger Reserve
(3)  The largest producing state of Maize.

Note : The following question is for the visual impaired candidates only in lieu of
Q. No. 36.

36.1 Name the river on which Hirakud Dam is located
36.2 Name the tiger reserve located in Kerala.

36.3 Mention any one feature of Black soil.
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HIT-1

o

frafafad 5 | foraq ST Helgid &1 @ISl i ?

(a) STERIfeTHI (b) M HeH

(c) TR=ER Riaw=g (d) TR
rgqan

IR H qgell e el el ome 7 off ?

(a) STRERER (b) HER

(0 =% (d) e
arran

frafafaa § @ o0 9 7w Ted Tgq ®owd 1 forgt of 2

(a) < ey fafe a1ef

(b) T foeX FE ATE sAfsedhre dad

(c) < Te |

(d) TEEH

C

frefafed 5 9 ffe <91 7 9ok o 3T W el ofH o fag ‘& o1’ @] fee ?
(a) M (b) | () = (d) faea
3T
E & foru o &t S areft geiel § 9 frefafad § @ wF 9iel #uel 999 § SerEdn wdt
off ?
(a) T (b) R A
(c) TE v (d) Tt <=
3T
frfafes § @ w0 @ 99 | ar, o JESE & TS o9 1 2
(@) 1819 (b) 1850 (©) 1872

frefafed § 9 fre STam o 3% 59 Yreifieht 1 geeTa foran ?
(a) 9RA ¥ T Sg TERGHT A

(b) ST % WG TERHI A

(c) =M % dig FaRa A

(d) SR T F HE T

a

areran
frefafaa § @ 9 goraem # foran 7 yom snyfas 1=y © 2
(a) HaEE (b) TG (c) TR (d)  TSRIER
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frefafad § | feam fufen 99 =1 enfaser fwen ?

(a) WA M (b) =M e

(c) 3MESieh <A (d) dTEER
AT

3T A e frefafaa et | 9w v | feran e o ?
(a) e (b) Sfem (0 f&= (d) wwEt

frefafea 8 & &1 w1 daree qreEfas @b gae 78 8 2

(a) =R 9 (b) A YfH
(c) e % (d) Tt wnfcaren gem

frefafed ger 6t Sfaal 8 | & @ stadl § f+ St 2

o ST FSTer! &A1 1 T 9 ©

S Tept ST T2t 5T @i o
S e w9
o Sl S 3UeTeY el

frefafed afeal § @ g W R 1y &1 fmio fen mn 82
(a) (b) Fom T
(c) TRER &t (d) HBMHal

frafafea & @ fa =1 Sust Frell fagt § o=zt 2t © 2
(@) (b) =mEw (c) U™ d) &

Tt TR, e < D 4§ sifesk Toifaer <9 S H SRRl Y §; I el S ©
(a) HHEIIH R (b) ThIHS HILhH

(c) HEHE: HIHR (d) TRETHT HIHR
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g a9 H diciot ! Tasd I g8 2
(@) 1945 (b) 1946 (©) 1947

frefafed o 9 forg <o o o1y o’ e 99 § 2
(a) HIK T THA (b) W

() ¥ (d) dfesem

frefafead & @ =9 faquem o 1 g9 € 2

(a) @fec gum™ HHS (b) TE Y HAS

(c) Torfera ga= (d) YHERd FAS

et <w % faama =1y frefafad § 9 g snar w frwifa fean s 2
(a) dfa Al T (b) SirTq HaRaT
(c) TN o1 T&TEH W (d) T 9 HE T/l

7fg fordt aftaR o Ui9 T ¥ 3R ST Fof 2119 20 IR 99 © o1 Yok oA shi id o1
FITERT ?

(a) 6000 TTH (b) 4000 TI
(c) 5000 ¥4 (d) 10,000 ¥4

o o

Freferfad & @ forg ouR W &l & rfed R srgnfed & § aefiea fohan <iman & 2

aTifefen Tifafafe™ st gehfd o STER W

b) UM % WHE % YR T

c) USFR &t gRfEafaal =

(d) 39 H ISR R M T FTHRT bl F&A & YR T

a

)
)

frefafea 9 & =0 & s nfafafy mefaew & & oTria T2 3w ?
(a) WS gHST (b)) Wl R () @ wH d) e
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HIT- 11

SIS IS HIET 1 71 31 § 7 TR Hifew |
3AYar
anfe friiiete 9 == fyyE 827 o sifsu)
3gAT
A 1 TAEEA 18 9 Wl o U W FI d¢l 2 g o HROT fAfE | 3x1=3

18 & Tt & A & & T A WrEd & fob qgon Gepfa @ Srmeshar o $iR figwEe %
37 Bl ST | 3x1=3

arera
I e T9a Su=aTEl § 19 of |l &1 Afeened &1 & oo &t 2

" gewth (1S T q&AT) STl BAE JAT H 1295 % o€ AE'' 56 HeA H T HH & oy
aﬁéa’ﬂw%ﬁ@@l 1+1+1=3

e
UG H YA i AR Iadl o foh=l i1 RO i ST el |

19 = 9t § vRa | Afgetetl W qfad g&aeni (9 fordrel) & forl T gwmel &t saren wifse 3
AYar
it e g fafad o= Mem’ &6t faw aeg ot §em | =men s |

e ST 3 YA 1R ? TAE & <I-91 eyl fafay |

I S W o faT RA TR N0 T T fohegl 19 Ui ol T wifsT |

g3eeiTa qRATSIeT i fR=dl oA g4l i T ifT |

fordt Slieha—= O TR & fafysr oM & o9 91 &1 Rl Sqawel St Sl St |
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TSI 3T § WiHST&d 3R Zohyd & &g <R fafau | 1Y2+1Y2 =3

YA YT AT 1 917 OIS hifI |

YA § Site o =gl di 9l sl Taee shifsre fSad Afgened o e S foran St & 2

fora &l AT % faw 3w, Ed. g W foRen S aren Amaeve fee we 9 fava dw g 3
TR T 9 a1 ATevS | i 2 T wifer

afefer faenmd o foTT graman &= eAfqemd €2 T sifsu |

TN (T T TSR TR SAfaf=m 2005) AR F3 & 3839 TR AT |

Hufed &5 TR AHSa &5k & o foh=l a9 ST &1 T HIfST |

TR0 1 1 Y T2 I smfde fafta # 9 YR & yamel @1 9uid qo”n“vlqll L 141md
+1+1+1=

AT

19 o TSt % AT F F© JAFTT T o T T E1Y o 99 Rl F gl g 4?2 TWH BT 4
IR &R fafEy |

Jreran
‘g AR Rl g HOT T e AT femE It ¥ SUgEd Saei SR SHT ST

T 1+1+1+1=4
Shifaert e IR anforfcors Ffy § o fafa |

1992 & g Geed & oe A § fasr<ien & fewn # fou 7v fo=i 9/ yaem &1 4x1=4
T H{fSTT |

e H T et &5 fhd IR 9Rd & faerm@ § JieM <ar g ?
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36. fau Uy & TS War AEfas W wHS 19 3 R 4 dev faf=q feu €1 f=fafea
SR ohi T 9 37 AT bl Y8 o AHfaS TR 3ifehrd X@met | 39 3is 7™ fafeu |

(1) 9T =1 IR

(2) I H YFER
(3) =M 1 &I IACH T

arereT
feu Tu At W g freafataa = st godl grr gemed iR 7 AW fafaw |
(1) ¥Rgve a9
(2) UFRER == o

(3) IR U HWA I THE T

Note : frefafad g9 haa gfedh Thanfeli & fag 9o 36 & o o
36.1 ERIFUS a1 fohd eI TR o1 g § 2
36.2 h¥a H feuq 9 fsdd o1 m fafaw )
36.3 HIE &I i H Tk fasmar fafa |
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INDIA - STATE (POLITICAL). 4"
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